FABE NO.
2634~

S B T
ITEM CORE
S AR

111318822
2111389161
211130183
21113B0164
2111380123
2111TBO1S52
2111380221
P1113IR0IID
2111386333
21113864772
2111380973
21113065467
2111390221
2111356396
11145622

21121103207
D1IRLZLe1060
D112 1Eten
DI21210163
212121622

P1IZLEIBLIGL
2121230221
RIR12TO4T
TIT12561461
DIRLTTOLER
DIR12RGG 16
RDIPRDSER17
PLERDSCH1G
CRLITRADODE
21IICOLOHET
21340600187
21ITEHPE LT
D1TLEFTRLDT
21TLQP70GP19
PLITROG0OS
D1 ITGEOGHS
PITTIOHDOS
2141136775
2141706631
21447004468
DLA4ZDORT &
DIS12003 %5k
215137681
T1SZRIG4SE
T1F11681465
2191266055
DISITIROZ7E
IR 1ELE2RE

1

SOMNODYNE INTERNATIOMAL LIMITED (BOMEAY)

H 3 NN 3 A S SE A XE N  DE  E N SER
FARTS LLIST FOR THE MODEL - PS 465D g/k/ 5774J¥;7
AN NN NRN N RN AN NN
AR R R R B TR T R R TR B R B R R BR300 YA g TR CE L LR LR LT T L T T

Ve

(it e TTEM BESCRIFTION ——- e ~» ITEM UNIT QUANTITY
R R R b R e R L S L R R D R B T N X A T S LT

SOLIER WIRE RESIN CORE IMM &£&/46 ki G, 156G
SOLDER BOR &T/°37 HE 9. 158
BARMAMNA JACKE TERMINALS (RED = 1. R
EANANS JACK TERMINALS (BLUE) i 1 a EXERCY
BAMANA JACH' TERMIMALES (YELLOW: i 1. 4600
RESIETOR C.F.R. 14, 5%, Be? P 1. GO
RESISTOR C.F.R., 174K, SY, 10&E e & 3G
RESISTOR C.F.R. 1/4W, 5%, 160 i 150515 ]
RESISTOR C.F.R. 1745y 9%, 166K PC s 1 Tt
RESISTOR C.F.R. 1744, 9%, 1K2 Fi 1. Derae
RESISTOR C.F.R. 1/8K, 9%, tKS S 1, e
RESISTOR C.F.R. L/4W, 9%, i 1.
RESISTOR C.F.R. 1/4id, 5%, FC 5, BIENGHES
RESISTOR C.F.R. 174, 5%, (S

RESISTOR C.F.R. 1/4K, 5%, i

RESISTOR C.F.R. 1/744, 9%, Fi

RESISTOR C.F.R. 1/4W, 5%, =

RESISTOR C.F.R. 1/72W, 5%, =

RESISTOR C.F.R, 1720, 5%, =

W/ RESISTORS 2.20FE Sk P

C.F.PREGET 2% (HORZIY 20K OBMS =2

ELEC.CAF. 1OMFD, 1&V i

ELEC.CAF, 148MFD, 1&W P

ELED.CAF. 1@@aMrD, 1&V [t I

ELEC. CAfFr, Z2¢FD, t&v ~C

ELEC.CAFP. 16G0FMFD, T35V i

ELEC. CAF, 22aMFD, IS5V P

ELCD.CAF. 47eMFD, I5W P

ELEC. CAF, 1oaMFR, SoV iz

Ei.CO.ChAF. HEOGMFT, B i

ELCO.CAFP. LMFD, 1oV =

CER.DISC CAF. 1 KFF, Sov R

CER.DISE CAF. 10 HFF, Sav P L T Y 1
DIODE 1nGaaR P 12 . S
DIODE LT &AGTS 6A/73006V i 1. OGS
BRIDBE RECTIFIER FBFPD 1803 1o, 2oy i 1 . @k
DIOBE ZEMER 1/3W, 12,6V =~

LIGDE ZEMER 1/2W, &2V SR

DIODE ZEMER 1/2W, 2.1V =

LED Smm DIA (RED: Fo

L.ED S MM O YELLOKW 0

LED 89 MM GREEN FO

TRAMEISTOR ZMIT77I, TO-3 L

TRAMSISTOR TIF 310, TO-2246 PG

TRANMEISTOR Z2ED4LBL, TO-92 = STaTS]
TRANSISTOR 20022374, TO-92 Bo 1. G
LMIZE&E REF IC (2.3 TO-92 = 1, ¢
J.02. REGIH.ATOR 7812 TO-220¢ B 1. e
I.C. TliAl OFPAMF 1458 DIF 8 FIMN (HA174587) 0 pr s
ENAMELLED COPPER WRIRE 1.&%, l&# w3 L5 3y

ERAMELLER COFPFER WIRE @. %0, 264 K& €, 5150
ENAMELLED COFFER WIRE ©.27, 22# Kg B @RE
HOGK P WIRE 148 BLACH M




FABE NO.
28—

e s s T
17eEM  CODE

LRSS T

2192160202
2192166563
21721460204
2192140288
2192160269
219R200481
ol Rrgeiela 2ol
e Ryl 13 yedn o)
21F224G202
2192240264
12248283
DIPE2JBEEA
1922402069
RILI220T8E
2T11T20T16
2T L1T20I2E
2311326512
2IIRIZe3ILE
2T1233eT08
ETL242603T08
ZIITIZ0I1G
2I163I2eT1e
ET164203T04
DET1O000ET

2ITIIIGTeR

2ITil1eEte

T12e0ad
SEI1I oS
BITZ11TOH

DEIDTREGET

REIDTREET

DTG 1 DGR
RT44400SDT
PIRASTODSE
PS11116027
PHIR120B1T
253160114
PHAZ1GGH1LT
DL TEE L 20
THNOBRBOES
BEOREEEETS
SHEHBEEHIS

11128016l
Filileelad
F1113IRG152

§****%**** WA
ITEM UNIT QUANTITY

SONODYNE INTERNATIONAL LIMITED (BOMBAY) |
***************#*%******i***ﬂ**********;
FARTS LIST FOR THE MODEL - FS 465D
B A N B NN NN NN
PR T R T LT E LR TR TR L LR LS LT LR
o i [TTEM DESCGRIPTION e v e o
%ﬁ%**%****%%*%%*%**%i*****%***i**%**%%*****%******

HOOK UF WIRE 1&# RED

HODK UFP WIRE 1&# DRANGE

HOOM WP WIRE 1&#% YELLOW

HODE UF WIRE l1&# BLUE

HOOK UF WIRE 14&# WHITE

HOGQK UF WIRE Zo# BROWN

H30K UF WIRE 246& BLUE

HOOW UF WIRE 4% BLALK

HOOK UF WIRE Z4# RED

HOOR UF WIRE 24# YELLOW

HOGK UF WIRE 248 GREEN

HOOK LiF WIRE 24# BLUE

HOOK UF WIRE 244 WHITE

SUREW YELLOW FTLD. MI x & S/7

SORER YELLOW ZINC #TD. M3 x 1¢ PH
SOREW YELLOW ZING PTD. M3EI x 20 FH
SCREW YELLOW ZIMC FPTD., M5 x 12 PR
SCREW MICKEL PTLD. M3 x 18 PH

SCREW MICKEL #TD. M3 x B8 CBH

SEREW M2 x & CTIGHT WHITE ZINO
SCREKW M3 x 19 BRASS MNICKEL FLATED
SCREW BLE OXIDISED MI x 1& PH

SCREW M3Z x & CTIGHT BLADH

MUT HEX. YELLDW ZING M3

NUT HEX. YELLOW ZIRMC M35

MUT REX. BRASS MICKEL PTDR. M3Z

FLAT WASHER YELLOW PTDR, M3 x B8 « ¢.3
FLAT WOABHER YELLOW PTD. M3 » 1@ x @.0
SPRING WASHER YELLOW ZIMNC MI

SPRIMNG WASHER YELLOW ZIND M3

STAR WASHER YELLOW ZIMC EXTERMNAL M3
FiAaT WASHER MICKEL FTD. MI x 8 » @.8
STAR WASHER WHITE ZIMC EXTERMNAL M3

L STAR WASHER BLACK EXTERNAL M2

EOEEIN JSE-6Z 114 x D5

FUSE HDLDER MF-527

EMI FILTER WITH AC SOCKET
ROCHER SWITCH &8/720568Y

RELAY 12V DO

LOMIMATION EXI. 114 (DeRMS0E
THERMAL FUSE 136/4-24
THERMGL THT. BER. TPRD (THERMOETAT)
3.5 DIGIT .9Y DFMSACED AM-128
CHASSIS FABRICATION 4030
COVER FARRICATION 4a50-

DIAL FABRICATION 40Ok
CHASSIE POWDRER COATING 465D
COVER POWDER COATING 4650

. DIAL POMDER COATING 465

HEAT STk AMNODIBINE 4830
RESTISTOR 174K S.F.R. S% 160 OHME
RESTETOR 174W S.F.R. BW 140K
RESISTOR 1/74W 8, F.R. 8% 1K30HME

T AR R RSN

MT
MY
MT
MT
MT
Mt
MT
MT
MT
M7

G, JEEG
Cr 0 DQOE
€, 28488
{5 J R %)
s, 74
Q. 870
&, G400
1.5
1. 776
D B200
Gy, e
iyl
1,020
5. Qo
2. 0000
{ . O
4, IEHE
4 XU
2 M
12 . Qe
1. sy
2. G
5 . Eese
18, Gaa
8. a0
e DR
o R
1o QDG
14, Q06
4, BEHCs
pogir 15 115
11 . 8
12, S
1728, ety
1. B0
1. QB
1. EENEE
1. @oaa
Jar T 150

1o G
1 CeEN3ES
1, MG
1. SR
1. s
1. O
1. @0
1. @aen
1. SN



FABE MNO. =z
29-04~-F6 :

' SOMNODYNE INTERMATIONGL LIMITED (BOMBEAY)
Fe R B DN B DI NI NN N A N A N
FARTS LIST FOR THE MODEL - FS 4650
B3O P BT BN N NN

EE L e L 8 8

B2 e Fe T A I AT AT A AT I I TN R AAA A AR A S A KRR FARR A AR A AR
ITEM CODE < ———— ITEM DESCRIFPTION ——————mmmere—mme s ITEM UNIT QUARNTITY
FR AR RH RN I TII R N T N T N T FHTIH AT R A AR A AR NNH RN R AW R AR FAHRAAEAARR REAAA AR R

Fii1i8aiez

RESISTOR 1/4W B.F.R. 5% 1KS P 1. G066
2111366221 RESISTOR 1/4W S.F.R. 5% 2000HMS 2w 1. 6066
5111386224 RESISTOR 1/4W S.F.R. S% 206K FC 1. BEE
$1113603T1 RESISTOR 1/4W S.F.R. 5% ITO0HMS S 1. 08080
911138¢332 RESISTOR 1/4KW S.F.R. 5% IK3 PC 1. a0e
$1113B0O3IIT RESISTOR 1/4W S.F.R. 5% 33K P 2. GO
2111360471 RESISTOR 1/4W S.F.R, 9% 4760HMS PO 1. G
111386541 RESISTOR 1/4W S.F.R. 9% S560E PO 1 . GO6E
2111386682 RESISTOR 1/4W S.F.R. 5% &KBOHMS Fo 1. GGers
9112219221 CERACARE FRESET (HORZ) 220 O0Ms e 1. G
9113160182 FOT. Z3mm LIN. SHAFT 2emm WITH FLAT 1K C 1. @
9113106167 FOT. 23mm LIN. SHAFT 2@mm WITH FLAT léx PE 1. GHasEEs
9113163104 POT. 2Z3mm LIN. SHAFT Z8mm WITH FLAT 18@K P 1. GE66
S1ZS7ZE227 CAPACITOR @.22MFD 186V, MET.FOLY. FLC 1. CaxDG
9172100601 FCE PS4 VAR, FCo 1. Geae
172100662 FCE DEM PO 1. Gesee
T11I20565 SCREW YELLOW ZINC MHx&S FC T GGG
9311320576 SCREW YELLDW ZIND MSx7o e T o GG
T12T46T16 NICKEL FTD. M3Ix1e C.S.H. FC T GO
STI1IZOTLID FLAT WASHER YELLDW PTD. M5 x 12 x 1.9 PO VR, GOGY
9TABGLBE1Z &MM FLASTIC SPACERS FC T GG
FTAOTINGRAT TO — I INSULATING BASE PO 2. G
9T4a400G0T MICA WASHER TO -~ = FO 2. BE0G
9TARERGBO1 FLASTIC CLAME BIG PO G
9749100605 S5 MM LED HOLDER R I8
$I44110665 L. E.D. HOLDER PO 3
9345400019 FUSH FIT LEGS FYC 19 MM Fo 4
9I46160000 POT. HKHNOE (PLASTIC) FC T 2
$T51416114 TRAMSFORMER CLAMFP E1 114 SET 1. e
SISATRGHEE BRIDBE RECTFIER L H/S P 1
PISTESE116 HEAT SINK SEC-5116 KE &
SIS2EEE22¢@ HEAT SIMK TO 220 BLADK iz

SINIZHG11S BACKLITE BTRIF 20 x 115 mm P

SISBLPOTOT CLEAR ACRYLIC/FOLYCARBONATE 7émm x 4@am x PO

9IS6IIG11S4 H/S COVER BLAGH 11l4wm P

©I71210604 1 MW STEEL SHEET 2o

SI7R4ZERI1 HEAT SINK SEC-2931 (SUDAL) =

2IR11R0R4Rn FRIMARY CARTON 5 FLY (2 P

9IL4AG1HB22 FLASTIC BAG 18" i« 22° B

9I91010400 SLEEVE FIBRE BLASS ML MT

ozeionodee SLEEVE FIBRE GLASS M2 MT

9IPIGTHLGH SLEEVE FIBRE BLABE M3 MT

oT9neaead SLEEVE FYC ZMM BLACK MT

9I9zezaTee SLEEVE PVD 2MM RED MY

OIPZRIATOG SLEEVE PVL 3MM RED MT

5541116830 FUSE 20MM IA QUICK ACTION FC

9554600006 BRASS TAG LBA P

THS471eoes TRONSFORMER TABS BRASS (RIVETING) =

95556160048 TERMINAL LOCAL ET1@ PR IR

POSTRORBEaL LPAD SMALL SIZE P

P9979900u2 LPAD MEDIUM SIZE FC ,
9TPTFTRReT 5 FLY COVERING FAD FL 1. NG




f]

11.

SPECIFICATION OF REGULATED DC_POWER SUPPLY : PS—-40S5 D

INPUT VOLTAGE

- QuUTPUTY vOLTARBE

OUTPUT CURRENMT

RESULATION o8 QuTeuT

VOLTAGE FOR 103Y% LOADR CHAMGE

PEGULATION OF QUTPUT
VOLTASE FOR + 10% OF INPUT
YOLTABE CHAMGE

QUTPUT CURRENT REGULATION
FOR + 10% OF IMPUT VOLTAGE
CHANGE

OUTPUT CURRENT REGULATION
FOR 100K LOAD CHANGE

RIPPLE (40548}
AT 2Z3 VAL

DIMEMESIOM ( H « & « D } mm
WEIGHT
MAY. IMPUT POWER -

MIN. DC OUTPUT VOLTAGE AT

WHICH (5.04) CAM BPE LOADRED

FEATURES «—

230 V + 10%, SO Hz

Q=30 ¥ DC (. + 4Y, - 0.0

-

Q.OZ2A-3.08 DO

(4]
.,

O om\

T L 0.08Y%

L 0.08Y9

”n

[T
~

20 @A

¢ (MAaX)y EFFECTIVE

8
g

(12¢ 1w Z1Q w 2301}

7.0 Kg. APPROYX.

IL0 VA

-

a.8V RO

1. GREEN L.E.D. INDIPATIDN FOR CV 2. RED L.E. D; FOR CC MDDEV

INDICATION. .

2. SEPERATE DIGITAL PANEL METERS FOR VDLTRGE QND CURRENT o

INDICATIONM.

FZ. THERMAL FUCSE ON THE FRIMARY oF TRANSFORMER.‘

v

4. IN LINE FUEE IN SERIES WITH PRIMARY OF THE TRANSFORMER. ,
5. DOUBLE RELAY EWITCHOVER CHT USED TO SELECT - THE SECONDARY - -

TAPS OF TRANSFORMER TWICE THRBUGHDUT THE - VDLTAGE RQNGE.

(AT 13V % 25W)

‘4. & RED L.E.D. INDICATION
OVERHEATING OF HEATSINK.

RESETABLE. .

. MANS  CORD - 13 NOT BEEM INCLUDED  towm nggm,@gg

»

FOR = OUTPUT .CUTr DUE - TO ,THE;~Z
THIS OUTPUT CUT IS AUTOMATICALLY -

Sl e L

T3



o R129
RN O +
> o L . SUPPLY TO OVM
SEC AC C 108 0113
PR -
Ik © °
onz  R10
O +
0-av . SUPPLY TO DCM
= SEC AC 109 1
€ 10s O . O~
> 3
C &0
OUTPUT
0 - 40V
€ 406 = 0-5A
——

R10Y {2700 waw [IR 207 [0.2200 ,SW fi D200 —
R 102 | K7 R 402 —— 0202
R 103 | 390 12W {IR 403 — 0203 |IN 4002
R 104 180K/Z20K/270K | R 404 | 0.2211 , SW |l D 204
R 105 | 1KS 0 205 [6.2v F2
R106 | 3K3 D 206
IN 4002
R 107 |4700/5600V680() D 207
R108 | 33x D208 |6.2v FZ
R109 | 100N C 101 | 220129V
R0 —— € 102 | 1000/ 16V B 40" [10A RECT
RN — C 103 | 10 KPF
R12 | 1000 € 104 | 100135V T 101 {TIP 31A
R113 | 1K2 €105 | 1763V Y102 |2 SC 2236
R4 | 10K C 106 | 0 KPF
R11S [ 330N(MFR) |1 C 107 | 0 22uF 100V || T 201 |2 SO 468C
R 116 c o 220135V 171202 | 250 «68¢
R 1?7 _— cm
RIS | 1KS T4 1N 3773
R 19 C 201 ] 470uF735V || T 402
R 120 | BK2 W € 202 | 100 KPF
R 121 | 33K (MFR) |IC 203|076V IC 101 [LM 336(2.5V)
R 122 | 2200(MFR) || C 204} 10¢ 16V IC1024] .\ 1i58
R 123 | L700(MFR) 1€ 1028
R 126 | 6X8 (MFR)
R12S 1C 201 | 7812
R 126 | 10K C 401 | 6800780V 1C 202 [LM 1458
I ) kil
o5 a2 12V RELAY
. 10KPF
C 406 RL3 THERMAL
RELAY
R 201 | 4K7 0101 |\ 002 Fi 3- AMPS
R 202 3K3 0102 F2 3 AMPS
R 203{ 106 " D103 | 6.2v FZ FAST BLOW
R 204 | 56K D104 |12V F2Z
R 205 1 33k D105 | LED (RED) poPM P(CB
R 206 | 10K 0106 | IN 4148 R 126 \00A AW
R 207 | 100K 0107 | LED (GREEN)|| R 127
R 208 | 3K3 0108 | \n 002 C 1% {001 16v
R 209 | 10K 0109 C 109
R 210°| 4K7 D110 | 6A 03 DM |\ 002
R 211 | 3K3 XX D 112
R 212 | 10K o2 o 13 0.1v2
R 213 | 47K o 13 D114
R 214 | 10K D M
R 215 | 10K 0 115 | LED (RED)
R 216 | 100K RBC |33K
R217 | 3K3 RA |3K3
R 218 | 10K RBY |100K
RAy 1000.
NOTE:

ALL RESISTORS ARE 1/4W OHMS AND -CAPACITORS

FARAD
PR 101
PR 102
PT 101
PT 102
PT 103

UNLESS SPECIFIED OTHERWISE.
- VOLTAGE ADJUST PRESET
CURRENT ADJUST PRESET
VOLTAGE ADJUST POT
- VOLTAGE ADJUST POT
- CURRENT ADJUST POT

IN MICRO-

- 220+ (CERACARB)
20K

- 10K (COARSE)
- 1K (FINE)
- 100K

SONODYNE INTL. LIMITED., SEEPZ, BOMBAY. | DATE: 5-2-96

MODEL : PS 4050 By 5)447 |ORG: NO: SIL/16/0028]

DRN BY: CHD BY: ] | REV DATE |REV
ALTAF 0@»‘




THERMAL FUSE
Fi * 01

-~

o0
SWITCH

o
-

\

m

|

PT
101

PT
c1o u 02
R123

230V /150Hz

7100 R .
L1 B 40 ‘ .
I T H]n 109 R12
0
£ T A T0 DCH |
. . INPUT |
== [lasza | -
[]am R 401 R 404
’ . b l
R1 3v
[]am _Lesos|c 402
D110 ' TO OVM
R Ay :
INPUT
D 202
S—
D 206

0203 R 207

R 213

SCHEMATIC CIRCUIT DIAGRAM OF ! 4ODEL PS 4C




— a0 | 2200 vew [[R <01 [0.220, 5w [ D200 —
THERMAI —_
'_: FUSE - a3 a8 R 102 | K7 R 402 0202
0lo1 ¢ R103 | 3900 12W R4 [ —— D203 | 1N 4002
Y
() om R129 R10Z 180K/220K/270K( R 404 | 0,220 , SW || D 20
SWITCH .
] om R107 R 105 | 1KS D 205 [ 6.2V FZ
H— ks == R124 o-8v = - SUPPLY TO OVM R106 | 3K3 D206 |\ oo
= . N 4
. SECAC cios D13 R 107 _|4700/560(¥5600) D207 :
) 55 O— - R108 | 33K 0208 [6.2v F2Z
o2 R130 R108 | 1000 C 101 | 220725V
R127] 0104 o1 +
(x2) 101 R10 | —— € 102 | 10007 16V 8 40! | 10A RECT
5 0-8v SUPPLY TO DCM R — €100 | 10 KPF
o SEC AC cios n Rz | 1000 €04 | 100135V o | TP 3A
g ot - R113 | 1K2 €105 | 1163V T 107 7 5C 2236
0103 (4] [ i0z R1e | 10K € 106 | 10 KPF
5:4 002 R101 T [R115 | 3300(MFR) JIc 107 |0 22uFricov {l v 201 |250 e68C
b= 7123 R 116 cio T 202 |2 50 466C
220435V poo—————
T2 R 12y R 117 —— cm
- v -
iy . v R 118 | 1K5 T [ gy
B 22 LR i — ¢ 20t | 470uFr3sv [ T 02
C‘a R 120 | 8K2 W C 202 | 100 KPF
R121 | 33K (MFR) [[C 203 [ 10016V 1C101 [LM 336(2.5V)
RS R 122 | 2201(MFR} | C 204] 10716V ICI1024] 4 yiss
™ R 123 | 70N (MFR) 1€ 1028
0109
R 124 | 6KB (MFR)
R 125 1€ 201 | 7812
- R 126 | 10K C 401 | 6800/ 80V 1C 202 [LM 1458
R127 | 4K7 C 402
- = |2 = o] 100rSoY n
® E 402 :t 3 12V RELAY
) 8401 10KPF
C 406 AL3 [ THERMAL
RELAY
2 70 DCH .
< K 10 F - AMP!
INPUT R 201 | 4K7 010§y cooz 1 3- AMPS
R 202 | 3K3 0 102 F2 3 AMPS
- R 203 | 0K c 0103 | 6.2V FZ FAST BLOW
R 204 | 56K D104 [ 12V FZ
R 2051 33K 0105 | LED (RED) OPM P(B
’
: R 206 | 10K D106 | IN 4148 R 126
100 01 14w
+ R 207 | 100K 0107 | LED {GREEN)|| R 127
- n 108
R 208 | 9¢3 D108 1n <002 < 100/ 16¥
A 3v C 405 R 209 | 10K 5 109 € 109
=
el 2 QUTPUT R 210 | 4K7 0110 | 6A 03 XL VP
. []R“‘ :{: 031¢ | 0- 40V R 21} | 343 oM D 12
0110 r R 212 | 10K D112 R
ay T0 DVH C 406 = 0-5A = = PETE At
R 23 | 47K
’ INPUT =
: R 21 [ 10X 014
f 4@ R 215 | 10K D15 | LED (RED)
. - : R 216 | 100K RBc |33
R217 ( 3K3 RAc |3K3
|
; R 218 | 10K RBY | 100K
D 202 RAy {1000
NOTE:
0204 ALY 0207 RL2
]a 204 5 1 ALL RESISTORS ARE 14W OHMS AND CAPACITORS N MICRO-
D 203 R207 D206 R216 FARAD UNLESS SPECIFIED OTHERWISE.
PR 101 - VOLTAGE ADIUST PRESET - 2201 (CERACARB)
_lem £ 1200 T 202 PR 102 - CURRENT ADJUST PRESET - 20K
PT 101 - VOLTAGE ADJUST POT - 10Kk (COARSE)
PT 102 - VOLTAGE ADJUST POT - 1K {FINE)
R 206 PT 103 - CURRENT ADJUST POT - 100K
R 205
y SONODYNE  INTL. LIMITED., SEEPZ, BOMBAY. IDATE: 5-2-96
SCHEMATIC CIRCUIT DIAGRAM OF '4ODEL PS 405D _. MODEL : PS 4050  BJy 511447 ]DRG. NO: SIL/16/0028
, DRN BY: CHD BY: ] | REV DATE |REV
: ! ALTAF DEM




